Possible Solutions

Clothing Sizes

Size6 Size 8

Size 10

a) What size did she have the most of?

~
There are 7 Size 6's, 8 Size 8s, and 10 Size 10s. \’\H\ \H\H\

So Becky has more Size 10s to donate.

b) How many pieces of clothing is she taking to the local charity?

7+8+10
15+10=25

Becky is taking 25 pieces of clothing to her local charity.
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¢) She found 5 more shirts in her drawer that were a Size 8. How many Size 8s will she be donating

now?

There are 8 Size 8s now, so 5 more would make 13.

8+5=13

Becky now has 13 Size 8s to donate.




